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4-2 Enrichment

Finding Angle Measures in Triangles
You can use algebra to solve problems involving triangles.
ﬂ In triangle ABC, mZA is twice m4B, and mZC
is 8 more than mZB. What is the measure of each angle?
Write and solve an equation. Let x = mZB.
msA + m4B + mZC = 180

2x +x + (x + 8) = 180

4x + 8 = 180
4x =172
x =43

So, m/ZA = 2(43) or 86, m/B = 43, and mZC = 43 + 8 or 51.

Solve each problem.

1. In triangle DEF, mZE is three times 2. In triangle RST, mZT is 5 more than
m«£D, and m/ZF is 9 less than mZE. mZR, and mZS is 10 less than mZT.
What is the measure of each angle? What is the measure of each angle?

msD =27, mZE = 81, m4ZF =72 mZR = 60, m4ZS = 55, m4ZT = 65

3. In triangle JKL, m /K is four times 4. In triangle XYZ, m/Z is 2 more than twice
mZdJ, and mZL is five times mZ.J. m/ZX, and mZY is 7 less than twice m/ZX.
What is the measure of each angle? What is the measure of each angle?

ms4Jd =18, m4ZK =72, m4ZL = 90 msLX =37, mLY =67, m4LZ =76

5. In triangle GHI, m/ZH is 20 more than 6. In triangle MNO, m/ZM is equal to m4N,
mZG, and mZG is 8 more than m /1. and mZ0 is 5 more than three times
What is the measure of each angle? mZN. What is the measure of each angle?

m£G =56, mZH =76, mZIl = 48 msZM = m4«ZN = 35, m£Z0 = 110

7. In triangle STU, m£U is half m4T, 8. In triangle PQR, m /P is equal to
and mZS is 30 more than mZ7T. What mZQ, and mZR is 24 less than mZP.
is the measure of each angle? What is the measure of each angle?

m4S =90, m4T = 60, mZU = 30 msZP =mZQ = 68, mZR = 44

9. Write your own problems about measures of triangles.

See students’ work.
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